I = M/

=7IN1° jﬁﬁgﬁi*ﬁ E"#

KEMIFEER

&) YENERRBANEE &



TEMEEMERRUBENRERREBNABENE
EZ!K%QWENC—3-12-1 @. BY NC SA

ORHLRE & F

B@ Tos 2 FERECERE g 1195 58212
AR SR R H A

Fod A S Bl oAz k- L UL MIEPE RIS 8o
AR B 1 >k Blede k- kL o AT A R B A9

BF )T GIEREE R L1 24 F 2T

d R 0.l s B0l sl FEELEF T U

L1 FF=0124 o

1 1A%, FAM0%S -
= E-SSEEEISK.

e N
L | I D D D D III

e VY- S

|
7

10 B 1% 442k F 10 % K > ‘fr'l'\éz\' ERBE- ko Ve
1 24=10 % 3k

~

@ﬂﬁ%%’3£#4%r1%$J%ﬁ%—ﬁ£’@£{4%*?\

h
k'

1111
Ocm lcm




THEMERMEERHUBNBER XBNABEERS
@. BY NC

OMEF 5 Hiniede ~ 2 iR F S

B
vl
I
¥

BAANC-3-12-1

ID}

(- 23 L ERL13F 4 Adpt- ABER 8FFenFeh 3 a A2 1k
BAcde k24 ST 40

T E1B3BF1IEF 8T FER8BLEFo
13 4+ 8=21(% i) IB3F1EFF4F 8RB 1 ZEL

(2)iﬁkJ&jmJ)§.t4 9%7}) 2 J%-i 75 % ‘} ’ ‘_:-’J—FF ‘?)T ’L‘ ?\Bﬁ% ,} W”’%_,t"?

TXEOBLIEF SEFESBHBLEF
9 — 5=4(% ) OB 1E}FERLSBILZEF »

£33 4B 1FF

g 4EL o

F4x X
G-+ 10~ BREREE3IETF » BS540~ BHh-4=>  EREEESTH?
IX5=15(% &) 3FFE3IBILEF
53 F Kt
£3 15B1EF >
FE_ 15 E K o

%ﬁd%&% |

(nugﬁ+7§$:( )E
)28 F s —13Fk=( HFF
(3)12 % +xy4 )E




TEMEEMERRUBENRERREBNABENE
EZ!K%QWENC—3-12-1 @. BY NC SA

@2t 2 4, thit &

~

F 100 B 1 24 L Rt -42 £7F 100 24 > o] 28
- R o
1240100 B 1 24 - FE 128 =100 24 -

2T I 100 XA =1 2%

J
N

PILOBIEFFNERERE-A> 2T 10 T4 ol 24
- L o

1 24410 B 14 - HE > 1240=10F % -

2 TR 10 E K =1 24

(D= 42 £l > 4 o5 > 209

4 2 F 4B 1 2%

fod4 100 24 - £ o

1 22 =100 = &

100X4=400

(2)— #5600 24 £ chfiF o 4 T OUEmE S S A e

100 &4 =1 2 ¢
600—100=500( 4 100 2> A $ & & 1 -
500—100=400(£ % 100 = & & & = 1
400—100=300(& £ 100 2>~ 3 & = 1 -
300—100=200(% £ 100 => &~ 3 & = 1 -
200—100=100(£ £ 100 2> &~ 4 & = 1 =
100—100=0 (&£ £ 100 2> A5 2 1 2 ®)

M
s

600 =>4 F_6 f 100 =

Nod RE 6B R o

N
>
Vx

N
Vx
p— p— p—— p—— p—

>
"

s



THEMERMEERHUBNBER XBNABEERS
@. BY NC SA

G- FT AR LB L A S E R

b
H
B
I

BAB

NC-3-12-1

ID}

1l & =10 % &
10X7="70

TAAR TR A
o7 B10F - Lo

(4)- % SOi%v\mfﬁ:‘ﬂ’k,T}{; Lo A

G- FES £ 2 i
1 24=10% ¥

50—10=40( £ 10 F ¥ 5 £ 1 24)
40—10=30(% £ 10 Tk & & = 1 2 4)
30—10=20(% £ 10 F ¥ 5 & 1 2 4)
20—10=10(F £ 10 F sk & 2 1 2 4)
10—10=0 (£ £ 10 Tk 45 = 1 2 4)

PR SN VI 7S IR Ny LI ?,rmr;;‘c;ég“,!f;‘;?g
50+10=5 50 K &S 10 = -
5 10 %ﬁiiﬁ—«r\S B 1 oao

%ﬁdﬁ&% |

()9 22 =(  )an
Q)12 2 =( )EF 4
(3)300 F  =( )2 A
(4)400 >4 =( )2 =



A
HEMBREKEBAEE

/B3 3
54 BB B 2 4 B B

i}

B




